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Current Footprint Future Footprint

Number of Family members :4

n terms of the distribution of my The main reason for the
eigslelnl ferernarginte mnaleviclgercllnnlorsis differences between the carbon
SClelanaerscinie i dale eiga g footprints of my current self is
and future models, the the fact that more food is

magnitude of them both are required to sustain more
different. individuals aside from myself.

Household and Food taking up Another reason for the
qpllelgineriials e igaielgireierneliinie difference between the footprint
gpe e ssaiss sl e sk izl s that transporting more people
AVENalelel cller paleldeiianishne) il can require more avenues of
eidslelnl spnlisislelnlsina el EN Al transportation that can increase
any other way. carbon footprint.



